
Lesson 4.2 

Homework Answers  

Pg 189 - #1-4, 7-30, 33, 36, 38, 41, 44-47 

1) SSS 

 

2) Cannot be proved  

 

3) SAS 

 

4) SSS 

 

7) a) Given 

b) Reflexive 

c) JKM  

d) LMK  

 

8) WV ,VU  

 

9) W  

 

10) U , V  

 

11) WU  

 

12) X  

 

13) XZ ,YZ  

 

14) MNLG   

 

15) VT  or WURS   

 

16) CBDC   

 

17) additional info not needed 

 

18) Yes; EFDACB  by SAS 

 

19) Yes; STRPVQ  by SSS 

 

20) No; need 

ZVWYVW  or ZWYW   

 

21) Yes; LOMNMO  by SAS 

 

22) RWTANG  by SAS 

23) MONKLJ  by SSS 

 

24) Not poss; need 

PH  or TKDY   

 

25) SVFJEF  or SFVJEF  ,  

by SSS 

 

26) BRSBRT  by SSS 

 

27) NMOPQR  by SAS 

 

28) No; even tho  s' , sides may not 

 

29) No; need KH  or JLGI   

 

30) Yes; SAS 

 

33) a) Vert. s' are  

 

b) Given 

 

c) Defn. of midpoint 

 

d) Given 

   

e) Defn. of midpoint 

 

f) SAS 

 

36) PSOISP  ; OSPISP  ; SAS 

 

38) Yes; CBDADB  by SAS; 

DBCADB  if ║ lines, then 

alt. int. s' are  

 

41) FG ║ KL  (Given) 

FKLGFK  (if ║ lines, then alt. 

int. s' are ) 

KLFG   (Given) 

FKFK  (Reflexive POC) 

KLFFGK  (SAS) 
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44) MBAM  because M is 

midpoint of AB . 

AMCB  because all rt. 

s' are  

DBCM  is given 

MBDAMC  by SAS 

 

45) D 

 

46) G 

 

47) C 

 

 

 

 

 

 

 

  

 


